G4-M7-lesson 11

1. Arectangular sidewalk is 2 feet 9 inches wide. Its length is three times the width plus 5 more inches.
How long is the sidewalk?

- To find the length, | triple
. the.width and add 5 inches.
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F=3x2f9%9n)+51n
=@3xZTH+(EXx%m)+5in
=6ft+27in+51in
=6ft+32n

Zft9in

The distributive property 2ft  Bin
The sidewalk is 8 feel helps me to solve.
& inches long. =8ft8in
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2. Mr. Lalonde plans to make his world-famous cookies. He has 2 pounds 3 ounces of brown sugar. This is;

of the total amount of brown sugar needed. If he uses 7 ounces of brown sugar for each batch of cackies,
how many batches of cookies can he make?
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| triple the amount of brown sugar T 8 5
that Mr. Lalonde already has.
135 0z B =3x350z=1850z
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i divide by 7 to find 0
the nuinber of number of 7 0Z groups £ =15
batches he can make. Mr. Lolonde can make 15 batches of cookies.
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3. Rocketexercised for 2 hours 27 minutes each day for 5 days. He sperit an equal amount of time on lower
body, upper body, and cardio. How long did he spend on cardio during the five-day period?

Z hr 27 min

A

F=5x2hkr27 min

. - = {5 x2Zhr)+(5%27 min)

7 = 10 hr 135 min

2hr 15 min

= 3Z hr 15 min

C={12hr15 min)+ 3

= (1Z2hr+ 3} + (15 min + 3)

£y <

=4 hr -+ 5 min

= 4 hr 3 min
i find the total time that Rocket

spends exercising, and then |
divide each unit of time by 3.

Rocket spent 4 hours 5 minutes on cordio during the five-day period,

Euaﬁm Lesson 11: Solve multi-step measurement word problems. 19

MATH

2015 Great Minds, eureka-math.org
G4-MI-HWH-1:3.0-07.2015

I
il




